3.NBT.2B Fluently add- subtract to 1000

Multiple Choice
Identify the choice that best completes the statement or answers the question.

10.

.Solve: 283 +129+36="7

a. 434
b. 448

. Solve: 715-289 =7

a. 426
b. 1004

. Solve: 1,000 - 465 =7

a. 1465
b. 525

. Solve: 862 - 497 =7

a. 375
b. 365

. Solve: 936 -514 =7

a. 442
b. 1450

.Solve: 89+37+16="7

a. 141
b. 132

. Solve: 684 + 317 =7

a. 991
b. 1001

. Solve: 754 + 237 =7

a. 891
b. 88

. Solve: 652 + 261 + 119="

a. 1032
b. 932

Solve: 514 + 267 +28="7?
a. 709
b. 799

. 484
. 348

. 326
. 416

. 535
. 545

. 1359
. 265

. 422
. 412

. 242
. 142

. 990
. 1011

. 980
. 991

. 1022
. 1031

. 809
. 819



Answer 1:
Answer 2:
Answer 3:
Answer 4:
Answer 5:
Answer 6:
Answer 7:
Answer 8:
Answer 9:
Answer 10: C
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